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def decision_tree_dependent():
gl =input(Zf1).lower()
if g1 =="yes":
print([@%)
g2 = input(2&42).lower()
if g2 =="yes":
print([@%)
else:
print([E%)
else:
print([@%)
if __name__ __main__
decision_tree_dependent()
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def decision_tree_dependent():

ql = input(questions[0]).lower()
if g1 = "IEW':
g2 = input(questions[1]).lower()
1f g2 ==SU Nzt
g3 = input(questions[3]).lower()
if 3 = 'L\WWXx':
q4 = input(questions[4]).lower()
if g4 == 'LWWZ":

print(advice)
print(hint1[4])
print(hint2[4])
print(attention)
elif g4 == "IFW':
print(advice)
print(hint1[3])

elif g3 == '@
print(advice)
print(hint1[2])
print(hint2[2])
print(attention)

else:
print(response)

else:
g5 = input(questions[2]).lower()
if g5 = 'L ':
print(advice)
print(hint1[@])
print(hint2[0])
print(attention)
elif @5 == 'LWWX':
print(advice)
print(hint1[1])
print(hint2[1])
print(attention)
else:
print(response)
elif q1 == 'LWWX':
print(advice)
print(hint1[5])
print(hint2[5])
print(attention)
else:
print(response)

print(hint2[3])

print(attention)
ellse:

print(response)

#ERY X~

questions=[
"EHRBICHRNBDEIN? ",
"ERBICERESHEIN? ",
"EBRBICRBERHEIN? ",
"BICEREEHETHN? ",
"ERBICHERATIN? ",
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if __name__ == "__main_": ¢
decision_tree_dependent() E
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